	____ 1.	Select the incorrect association. 


	A)	chemoreceptor/food 	D)	photoreceptor/light 


	B)	mechanoreceptor/touch 	E)	thermoreceptor/heat 


	C)	nociceptor/pressure 








	____ 2.	Naked nerve endings detect 


	A)	chemicals.    B)  light.    C)  pain.    D)  pressure.    E)  touch. 








	____ 3.	Anoxia is a 


	A)	change in temperature. 	D)	lack of oxygen. 


	B)	decrease in light. 	E)	loss of light. 


	C)	development of pain. 








	____ 4.	Merkel's discs detect 


	A)	cold temperatures. 	D)	light touch. 


	B)	deep pressure. 	E)	pain. 


	C)	hot temperatures. 








	____ 5.	Heat receptors detect temperatures in the range of ________ C. 


	A)	10 to 20 degrees 	D)	75 to 100 degrees 


	B)	25 to 45 degrees 	E)	100 to 125 degrees 


	C)	50 to 75 degrees 








	____ 6.	Cold receptors detect temperatures in the range of ________ C. 


	A)	–10 to –5 degrees 	D)	5 to 10 degrees 


	B)	–5 to 0 degrees 	E)	10 to 20 degrees 


	C)	0 to 5 degrees 








	____ 7.	Meissner's corpuscles detect 


	A)	chemical changes. 	D)	pain. 


	B)	deep pressure. 	E)	temperature. 


	C)	light touch. 








	____ 8.	Proprioception is the sense of 


	A)	chemical changes. 	D)	position. 


	B)	consciousness. 	E)	temperature changes. 


	C)	deep pain. 








	____ 9.	Golgi tendon organs are 


	A)	chemoreceptors. 	D)	position receptors. 


	B)	mechanoreceptors. 	E)	touch receptors. 


	C)	pain receptors. 








	____ 10.	Chemoreceptors detect the concentrations of _________ in the blood. 


	A)	carbon dioxide and hydrogen ions 


	B)	carbon monoxide and potassium ions 


	C)	hydrogen ions and potassium ions 


	D)	potassium ions and sodium ions 


	E)	sodium ions and oxygen 








	____ 11.	Which element stimulates the development of taste buds? 


	A)	calcium    B)  copper    C)  iron    D)  magnesium    E)  zinc 








	____ 12.	There are ________ basic flavors detected by the taste buds. 


	A)	2    B)  4    C)  6    D)  8    E)  10 








	____ 13.	One system of olfactory classification recognizes ________ primary odors. 


	A)	2    B)  4    C)  7    D)  20    E)  50 








	____ 14.	The outer layers of the eye are the 


	A)	cornea and lens. 	D)	retina and sclera. 


	B)	cornea and sclera. 	E)	sclera and choroid. 


	C)	lens and retina. 








	____ 15.	Select the incorrect association. 


	A)	choroid/middle layer 	D)	iris/ inner layer 


	B)	ciliary body/middle layer 	E)	retina/inner layer 


	C)	cornea/outer layer 








	____ 16.	The first structure of the eye to intercept light rays is the 


	A)	choroid.    B)  cornea.    C)  iris.    D)  pupil.    E)  retina. 








	____ 17.	The ciliary body controls the shape of the 


	A)	choroid.    B)  cornea.    C)  iris.    D)  lens.    E)  sclera. 








	____ 18.	The iris controls the size of the 


	A)	choroid.    B)  cornea.    C)  pupil.    D)  retina.    E)  sclera. 








	____ 19.	Rods and cones are part of the 


	A)	choroid.    B)  cornea.    C)  iris.    D)  retina.    E)  sclera. 








	____ 20.	The fovea centralis contains the highest concentration of 


	A)	bipolar neurons.    B)  cones.    C)  ganglia.    D)  rods.    E)  scleral cells. 








	____ 21.	Cataracts are most likely to develop in a person with a ________ iris. 


	A)	blue.    B)  dark-pigmented    C)  gray    D)  green    E)  hazel brown 








	____ 22.	What is the clear, gelatinous material in the posterior chamber of the eye? 


	A)	aqueous humor    B)  cornea    C)  lens    D)  sclera    E)  vitreous humor 








	____ 23.	The incidence of glaucoma increases after the age of 


	A)	20.    B)  25.    C)  30.    D)  35.    E)  40. 








	____ 24.	Refraction is the 


	A)	bending of light rays. 	D)	formation of images in the dark. 


	B)	development of cataracts. 	E)	loss of vision. 


	C)	discrimination of colors. 








	____ 25.	________ different muscles attach to the eye and move it. 


	A)	two    B)  four    C)  six    D)  eight    E)  ten 








	____ 26.	Select the incorrect association. 


	A)	hyperopia/farsightedness 	D)	retina/rods 


	B)	myopia/nearsightedness 	E)	rods/color vision 


	C)	retina/cones 








	____ 27.	Rhodopsin is a pigment found in the 


	A)	cones.    B)  cornea.    C)  lens.    D)  rods.    E)  sclera. 








	____ 28.	Select the correct association. 


	A)	auricle/middle ear 	D)	malleus/outer ear 


	B)	cochlea/inner ear 	E)	semicircular canals/middle ear 


	C)	incus/inner ear 








	____ 29.	The eustachian tube functions 


	A)	as a pressure valve. 	D)	to discriminate colors. 


	B)	for body balance. 	E)	to protect the ear. 


	C)	to detect sound waves. 








	____ 30.	The utricle and saccule are located in the 


	A)	cochlea.    B)  external ear.    C)  middle ear.    D)  sclera.    E)  vestibule. 








	____ 31.	The human body is endowed with five special senses. 


	A)	True   B)  False








	____ 32.	Somatic pain originates from the viscera. 


	A)	True   B)  False








	____ 33.	Naked nerve endings in the skin detect temperature. 


	A)	True   B)  False








	____ 34.	Meissner's corpuscles are located in the epidermis. 


	A)	True   B)  False








	____ 35.	Ruffini's corpuscles are probably stimulated by light touch. 


	A)	True   B)  False








	____ 36.	Impulses from Golgi tendon organs can stimulate the contractions of skeletal muscles. 


	A)	True   B)  False








	____ 37.	All receptors are capable of adaptation. 


	A)	True   B)  False








	____ 38.	The sides of the tongue are most sensitive to sour flavors. 


	A)	True   B)  False








	____ 39.	There is a well-documented theory at present about understanding of the sense of olfaction. 


	A)	True   B)  False








	____ 40.	Olfaction influences the sense of taste. 


	A)	True   B)  False








	____ 41.	The extrinsic eye muscles attach to the sclera. 


	A)	True   B)  False








	____ 42.	The choroid contains a large amount of melanin. 


	A)	True   B)  False








	____ 43.	The optic disc contains a high concentration of cones. 


	A)	True   B)  False








	____ 44.	The iris contains skeletal muscle. 


	A)	True   B)  False








	____ 45.	The concentration of cones in the retina decreases with increasing distance away from the fovea centralis. 


	A)	True   B)  False








	____ 46.	The aqueous humor fills the large posterior chamber of the eye. 


	A)	True   B)  False








	____ 47.	Glaucoma can develop by a buildup of the aqueous humor in the eye. 


	A)	True   B)  False








	____ 48.	As light passes from the air into a denser medium, its velocity slows down. 


	A)	True   B)  False








	____ 49.	For accommodation on a closer object, the curvature of the lens increases. 


	A)	True   B)  False








	____ 50.	Light rays converge as they pass through the eye and fall on the retina. 


	A)	True   B)  False








	____ 51.	People with myopia have difficulty seeing objects that are close to them. 


	A)	True   B)  False








	____ 52.	Radial keratotomy flattens the cornea. 


	A)	True   B)  False








	____ 53.	People with hyperopia have difficulty seeing objects that are distant. 


	A)	True   B)  False








	____ 54.	Astigmatism tends to worsen as a person becomes older. 


	A)	True   B)  False








	____ 55.	The resiliency of the lens decreases with the development of presbyopia. 


	A)	True   B)  False








	____ 56.	A dietary deficiency of vitamin A can lead to the development of nightblindness. 


	A)	True   B)  False








	____ 57.	The vibration of the malleus causes the incus to vibrate. 


	A)	True   B)  False








	____ 58.	The vestibulocochlear nerve is a spinal nerve. 


	A)	True   B)  False








	____ 59.	The organ of Corti contains receptors for body equilibrium. 


	A)	True   B)  False








	____ 60.	The stapes is attached to the oval window. 


	A)	True   B)  False








	61.	Visceral pain that appears on the body surface is called ________ pain. 








	62.	The ________ is a receptor that resembles a small onion. 








	63.	A ________ connects a muscle to a bone. 








	64.	_________ are small protrusions on the surface of the tongue. 








	65.	Another name for the optic disc is the ________. 








	66.	The concentration of rods in the retina __________ with increasing distance from the fovea centralis. 








	67.	The ________ is a fluid that provides nutrients for the cornea and lens. 








	68.	Light rays from a source tend to separate or ________.








	69.	Myopia generally tends to first appear in a person at age __(number)__. 








	70.	Retinal is produced from vitamin ________. 








	71.	The different pigments in the cones are ________, ________, and ________. 








	72.	Stereoscopic vision refers to ________ perception. 








	73.	The ________ is the pressure release valve of the inner ear. 








	74.	The semicircular canals contain a fluid called ________. 








	75.	The ________ is the gelatinous material in the crista of the semicircular canal. 








	76.	As light is transmitted through the eye, what is the order of structures it passes through? 








	77.	What is the difference in function between the rods and cones? 








	78.	How is the stimulus for hearing formed in the inner ear? 








	79.	What is the difference in function between the vestibule and the semicircular canals? 








	80.	Match each term on the left to an appropriate association on the right.


		


			____ aqueous humor	A. middle ear bone


		


			____ cochlea	B. changes shape for accommodation


		


			____ cornea	C. outer, clear layer of the eye


		


			____ iris	D. fluid behind the cornea


		


			____ lens	E. contains hair cells for hearing


		


			____ malleus	F. pigmented part of the eye 











�
Answer Key -- Chapter 12





	1.	C	





	2.	C	





	3.	D	





	4.	D	





	5.	B	





	6.	E	





	7.	C	





	8.	D	





	9.	B	





	10.	A	





	11.	E	





	12.	B	





	13.	C	





	14.	B	





	15.	D	





	16.	B	





	17.	D	





	18.	C	





	19.	D	





	20.	B	





	21.	B	





	22.	E	





	23.	E	





	24.	A	





	25.	C	





	26.	E	





	27.	D	





	28.	B	





	29.	A	





	30.	E	





	31.	A	





	32.	B	





	33.	A	





	34.	B	





	35.	A	





	36.	A	





	37.	B	





	38.	A	





	39.	B	





	40.	A	





	41.	A	





	42.	A	





	43.	B	





	44.	B	





	45.	A	





	46.	B	





	47.	B	





	48.	B	





	49.	A	





	50.	A	





	51.	B	





	52.	A	





	53.	B	





	54.	B	





	55.	A	





	56.	A	





	57.	A	





	58.	B	





	59.	B	





	60.	A	





	61.	referred 





	62.	Pacinian corpuscle 





	63.	tendon 





	64.	Papillae 





	65.	blind spot 





	66.	increases 





	67.	aqueous humor 





	68.	diverge 





	69.	12 





	70.	A 





	71.	blue, green, red 





	72.	depth 





	73.	round window 





	74.	endolymph 





	75.	cupula 





	76.	Light passes through the cornea first.  The succeeding order of structures is the aqueous humor, lens, vitreous humor, and retina.  Part of the aqueous humor is in front of the iris and pupil and part of it is behind them. 





	77.	The cones function for color discrimination and the formation of sharp images.  The rods function for image formation in dim light or in the dark. 





	78.	As vibrations strike the oval window, they create a series of waves through the fluid in the vestibular canal.  These vibrations continue through the fluid of the tympanic canal.  Pressure is relieved when the fluid vibrations strike the round window.  As this fluid vibrates, it disturbs hair cells in the cochlear duct between the two canals. Mounted on a basilar membrane, these cells rub against an overhanging tectorial membrane, creating the stimulus. 





	79.	The vestibule functions more for maintaining balance when the body is stationary.  The semicircular canals function more for maintaining balance when the body is moving. 





	80.	D, E, C, F, B, A 
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